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PAPER 1 {BOOKLET A}

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 canry 2 marks each.
For each question, four options are given. One of them is the comrrect answer.
Make your choice (1, 2, 3 or 4). Shade the oval (1 2,30r4) on. the Optical
Answer Sheet.

(20'marks)

1 1n209.431, the digit in the hundredths place is .

0 1
@ 2
@ 3

4 4 -

2 Anqi used 218.08 g of flour to bake 8 muffins. How much flour did she
use 1o bake one muffin?

{1) -27.26 9
{2y 2735g
(3) 1744864g

(4) 175040¢g
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3 The total surface area of a cube is 216 cm®.  Find its volume.
() 6om
2 36em®
(3 Ss4ord
@ 216w’

4 How many 3;digit odd aumbers can you make from the following digits?

For each number, each digit can only be used once.

2lt3llalls

) 9
(2 10 -
3 1

4 12
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5 Mei Mei had 150 buttons more than Siti at first, After Mei Mei used 190
buttons, Siti now has twice as many buttons as Mei Mei. Find the
nuraber of buttons Mei Mei had at firsi. :

(M 190
2 230
(3) 300
4 340

6 The figure below shows a square WXYZ. Given that V is the mid-point
of WX and ZXVY = 72°, find Za_

Z Y

g
<
+ N
>

18
@ 36°
3) 1o08°

@) 1440



2009 - P6 — MA - SA2 - Nanyang

7 Giventhatd:e=3:2and e: f= 4 :5, express fas a fraction of d.

@ 3
5
@ 3
6
@ &
5
@w S
2

8 The price of a toy car was increased from $35 10 $42. Find the
- percentage increase of the toy car.

M 162 %
3

2y 20%

3) :331 %
3 (4]

@ 120%



2009 - P6 - MA - SA2 - Nanyang

9 Look at the picture carefully.

Which one of the _foﬁowing nets can form the above cube?

0
. ¥*

2

>

IR

@ [, -
¥ @

* B E % (% e| H %

D

———

.,
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10

11

In a holiday camp, the children were divided equally into groups of 3,9
or 13 during the outdoor activities. How many children attended the
camp? '

(1 117
(2 118
(3) 120
4y 126

John is standing in the middie of a field at position D and he is facing
North-west. if he tums 270° anti-clockwise, where would he be facing?

North

A

(1) South-east

{2) South-west

{3) North-east

{4) North-west
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12 A rectangular box measures 30 cm by 16 cm by 14 cn. Find the
maximum number of cubes with sides 4 ¢cm that can be packed inio the

-box. '
{1) 1680

2) 420

3) 105

4y 384

13 Findihevaluedf —Eii —«-% -~ 3w+ :} when w=2.

) % )
@ 3

&) 1%

“) 1%
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14 The pie chart below shows the monthly expenditure of a famiij'. They
spent half of their expenditure on recreation and food.
Express the monthly expenditure on transport as a fraction of the

expenditure on recreation.

OIS
@ 3
@ =
@ 3
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15 The four containers below each contains the same amount of water with
“different number of objects.

What is the volume of object Y?

(1) 40cm’
2y 60cm®
3y 80w
4) 100cm®
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Name: { ) Class:Prg( )

P8 Prelims 2009

PAPER 1 {BOOKLET B}

Questions 16 to 25 cany 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the unils
stated. o L :

(10 marks)

- 18, A shopkeeper had 3255 loitipops.  He repacked them into packets of 3
' each. How many packets did he have altogether?

Ans:
17 Find the missing fraction in the box.
6.1 + 2_.7.'__ = l ? — 2
6 12 6
Ans:
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18  Joseph bought 7 identical pencils, each of length as shown in the
diagram betow. What is the total length of the 7 pencils?
(Leave your answer as a mixed number in its simplest form.)

cm

-!Oltul:nu|2||n|uu|41u_JlJm-Islm i lagnllun ﬁll_il

Ans: cm

18 in 2009, the population of Country A is 6 547 000 when rounded off to
the nearest hundred. What is the smallest possible number that can
be the population of Country A?

An_s:

20  Mei Ling took a flight from Singapore to Hong Kong at 08 30 Singapore
time. The durafion of flight was 3 h 45 min. What time would it be in
Singapore when she reached Hong Kong? Give your answer in 24
hour clock. (Assuming that there was no delay and the flight departed as
planned.)

Ans:

11
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21 Kumar had two parcels. The mass of Parcel A was 1068 g and the

mass of Parcel B was 5.14 kg. What was the total mass of the
parcels? ' '

Parcel B

Ans: kg

22 In the figure below, PQST is a rhombus and TSR is a straight line.
Find ZPST. '

AN

Ans: ' °

12
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23 The figure below shows 5 shaded squares. Shade 2 more squares in
the figure so that AB becomes the fine of symmetry of the figure,

-

24  Ming Kang completed his 1.6 km run for NAPFA test in 6 min 40 sec.
Find his speed in nis.

1

Ans: mis

25 Inaclass, % of the number of boys is as many as % of the number of

girds. . Find the ratio of the number of giris to the number of boys.

Ans:

13
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Questions 26 to 30 camy 2 marks each. Show your working cleatly in the
Space provided for each question and write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated. ' _
{10 marks)
26  The product of two numbefs is % I orié éf-tﬁe___'mimbers is % what is
the other number? )

27  The figure below is made up of onhe rectangle and 6 idenftical shaded
squares.  The 6 shaded squares have a fotal area of 150 cm?. Find
the perimeter of the figure.

15 cm

Ans: om

14
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28  Aliwas myears old 3 years ago. He was half of his father's age then.
Find their present total age in terms of m.

Ans: years

29 The graph shows the amount of time Zhming spent on revising for each
of his subjects i ina week.

-

.14
12
10

Number 8 |
of hours g

Engiish Chinese Maths  Science
Subjects

Find the average amount of time he spent on revision for all 4 subjects.

15
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36 Draw 4 more of the unit shapes in the space given below to show
that it can tesseliate. '

16
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PAPER '2 "

_Queshons 1 o5 cany 2 marks each Show ' ourworkmg cleady‘ n
_ -Iprov'ded' fc ' question’

- Ans:

2 Rectangle ABCD has a penmeter of 56 cm. Given that lhe area of
triangle ABF is. 42 con’ and AB = 18 cm; f nd the area of triangle BEF_

A 18 cm
B
10-] E 74 {0
D £ C

Ans: ' cm
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Ans:

Two identical rhombi intersect at the mid-points of the sides to form
thombus ABCD.. What percentage of the figure is unshaded? Give

Your answer as a thixed-number.

Ans: . . Ya
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Ans: : %
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- For questnons 6 10.18, show your workmg c!eariy in the - Space provnded for _
_ each quest:onand wme your. answers : the Spaces pm\'rided L
The number of- mtks avaxlab!e, is; shiow

Ans: (a) - 21

(b) _ 1]
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The_areas of_the ;hree fac&c of a cuboxd are 24 cm 72 cm and

p

Ans: o } 3].

8 The figure below is not drawn to scate. ABCD is a parallelogram. CDE
and BFE are straight lines. CF = BF, ZCBF = §5° and ZABF = 45°
Find the 'diﬁ'ert_enoe between £z and £x.

B ' A

Ans: . ' , - {31
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Ans: | ' {3}




2009 - P6 - MA - SA2 - Nanyang

(). IS i @ 30% walter conservation:tix charged on Water usage: -
. only, how much rore moneydoes Mr Lim have topay?
(Round off the answer to 2 decimal places.).

Ans: (a) 2]

- (b) Rt
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11 . The table. below -
. duting a survey,

. Ans: (a) 2

() 2]
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—_—

Ans: (a) {31

o) et
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13, A feclangutar. container X measuting 10 om by 20 om By18 ém fs 2+

: - . Ans: (a) ' (31

(b) a (1

10
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The figure bisiow s not dfawn.to scale.  ZADC.

w/x.and £ zxs

(a) £LZ;
by Lw
Ans: (&) . :
_ ) . ) 1l

11
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files "%y

a0 o

How many files were used to form Figure 62

{b) How many more tiles were used to form Figure 10 than Figure 6?

(¢} Which figure was formed with 171 files?

Ans: (@) | . Rt

{b) .

{c) 1

12
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__oentre O.I'_,and rad:us of 4 cm _ The brggesf circles has centre 0 and.'

(@) Find the radius of the medium-sized _circle.

{b) Find the area of the white region. Use a calculator o obfain the
value of x. (Give your answer correct to 2 decimal places.)

(c} Express the area of the red region as a fraction of the area of the
blue region.

Ans: (a) - S ¢
 ® ' 12}
{©) 12}

13
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Ans: (a) - j?fcg ]
o) [31@}

4
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Ans: - {51

END OF PAPER

15
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Q1 Q2103194 ]1Q5{0Q6} Q7 1Q8 ]| Q9 10Q10{Q11iQ12iQ13]Q14}Q15
311 41 4 212 z Z2i4i T 3 {4 31271 3

16)1085 17)97/12 18)572/scm  19)6546950  20)1215

-

21)6.208kg - 22)57.5°  23)[ ¥ 24)4m/s

25)15:4 26)8/9

27)80cm  28)(3m+6) ~ 29)8%h

30)
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Paper 2

1)84-6k _ 2)56-18-18=20
20:=-2=10
18x10x /2 =90
90-42=48cm:

3)}(28n+56) ' 4)855;7%

5)$51x100/85=$60 6)a)$1440

$60-$48=$12 b)$720
$12/$60=1/5=20% g

7)288cmys - . 3).4)5___)5529,.,_*_4'5-: =100° -
180° -100° =80°
80° -55° =25°

Zzz2180° -55° -55° =70°
180° -100° -25° =5K°
180° -55° -70° =55°
180° -100° =80"
180° -50° -55° =45"

Lz -Lx245° -25° =20°

9)50L © 110)a)$26.52
b)$5.62
11)a)3 _ 12)a)6:7:11:15
b)70% b)6:7
13)a)10cm 14)a)66°
b)13cm b)26°
15)a)21 b)34 )18 16)a)7cm  b)103.67cm>
c)}16/51
17)a)50km/h 18)42
b)9.45a.m. '
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